d-Lesson 21

Solve using the RDW process.

Emi made a bracelet that was 13 centimeters long. The bracelet didn't fit so she made the bracelet longer.
Now the bracelet is 17 centimeters long. How many centimeters did Emi add to the bracelet?
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| can draw more circles for the length

| can draw 13 circles to represent the length Emi added o her bracelet until the
of Emi’s bracelet at first. | label with the total is 17 beads. 1add 4 circles to
letter F for first beads on the bracelet. represent the added lenigth,

24 4 =17

Emvl ndded 4 centimetars o the rprelet,

Lesson 21 Recognize and make use of part-whole ralstionships within tape 33
diagrams when sclving & veriety of problem types,
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